
 

 

REASONING QUIZ 

1. Three of the following four are alike in a certain way and they 

form a group. Which one is the one who does not join this group? 

(A) Barometer 

(B) Diameter 

(C) Thermometer 

(D) Lactometer  

 

2. Find the odd one out. 

 

(A) A 

(B) B 

(C) C 

(D) D   

 

3. In the following question, select the odd word pair from the given 

alternatives. 

(A) Hanger: Aeroplane 

(B) Yard: Train 
(C) Depot: Bus 

(D) Scooter: Garage 

 

4. Directions: In each of the following questions, select the related 

word from the given alternatives. Q: Suggestion: Demand: Take: 

(A) Gain 

(B) Gift 

(C) Give 

(D) Snatch 

5. Direction in each of the following questions, select the related 
word from the given alternatives. Q:  Parliament: Great Britain: 

Congress: 

(A) USA 

(B) Netherlands 



 

 

(C) Japan 

(D) India 

 

6. Directions: In each of the following questions, select the related 

word from the given alternatives. Q: Botany: Plants: Entomology:  
(A) Insects 

(B) Snakes 

(C) Birds 

(D) Plants 

 

7. Directions: In each of the following questions, select the related 

word from the given alternatives.  Q: Psychology: Mind: 

Ornithology:  

(A) Mammal 

(B) Bird 
(C) Sanskrit 

(D) Coin 

 

8. Directions: In each of the following questions, select the related 

word from the given alternatives. Q: Flow: River: Stagnant:  

(A) Stream 

(B) Canal 

(C) Pool 

(D) Rain   
9. If A = 26 and TEA = 55, then SPATTER =?  

(A) 92 

(B) 90 

(C) 91 

(D) 95 

   

10. If COIL = 315912 and POLICE = 161512935 then PRICE =? 

(A) 1516824 

(B) 1517824 

(C) 1618935 
(D) 1718935 

  



 

 

11. Select the option that will fill in the blank and complete thee 

given series 

15, 17, 20, 22, 27, 29,  

(A) 31, 38 

(B) 36, 38 
(C) 36, 43 

(D) 38, 45 

 

12. Directions: Study the following information carefully and answer 

the questions given below. 

Among six persons - K , L , M , N , O and P - cache lives on a different floor 

of a building having six floors numbered one to six ( the ground floor is 

numbered 1 , the floor above it is numbered 2 and so on and the o topmost 
floor is numbered 6 ) .  

L lives on an even numbered floor. L lives on a floor immediately below K's 

floor and immediately above M's floor. P lives on a floor immediately above 

N's floor. P lives on an even numbered floor. O does not live on floor 

number 4.  
Q:  On which floor does O live?  

(A) 6th 

(B) 2nd 

(C) 3rd 

(D) 5th 

 

13. Directions: Study the following information carefully and answer 

the questions given below. 

Among six persons - K , L , M , N , O and P - cache lives on a different floor 
of a building having six floors numbered one to six ( the ground floor is 

numbered 1 , the floor above it is numbered 2 and so on and the o topmost 
floor is numbered 6 ) .  

L lives on an even numbered floor. L lives on a floor immediately below K's 
floor and immediately above M's floor. P lives on a floor immediately above 

N's floor. P lives on an even numbered floor. O does not live on floor 

number 4.  



 

 

Q:  Who amongst the following live on the floors exactly between K 

and P?  

(A) O and L 

(B) L and N 

(C) L and M 
(D) M and N   

 

14. M is sister of D. R is brother of D. F is father of M and T is 

mother of R. How is D related to T?  

(A) Brother 

(B) Son 

(C) Daughter 

(D) Data inadequate 

 

15. Point R is 10 metres north of point A. Point K is exactly in the 
middle of the points R and A. Point N is 7 metres east of point A. 

Point M is 7 metres east of point K. Point S is 6 metres north of 

point M. What is the distance between point S and N?  

(A) 13 metres 

(B) 16 metres 

(C) 11 metres 

(D) 12 metres 

 

16. Directions: Find the missing number from the given responses in 
each of the following questions.  

 

(A) 5 

(B) 15 

(C) 8 

(D) 56 



 

 

 

17. If each vowel of the word DEFAULTS is changed to the next 

letter in the English alphabetical series and each consonant is 

changed to the previous letter in the English alphabetical series, 

how many alphabets will appear twice in the new formation?  
(A) None 

(B) One 

(C) Two 

(D) Three 

  

18. In a certain code ‘ WAVE ' is written as ' 5 % 3 ★ ' 

and ‘ WINS ’ is written as '59 @ © ' . How is ' SANE written in that 
code?  

(A) © % @ ★ 

(B) ★ % © @ 

(C) © @ % ★ 

(D) © 9 @ ★ 

 

19. Pointing towards a lady, Likes said, “She is the daughter of my 
mother’s only daughter.” How is Lokesh related to that lady? 

(A) Brother 

(B) Uncle 

(C) Father 

(D) Son 

 

20.  A family consists of six members P, Q, R, S, T and U. There are 

two married couples. Q is a doctor and the father of T. U is 

grandfather of R and is a contractor. S is grandmother of T and is a 

housewife. There is one doctor, one contractor, one nurse, one 
housewife and two students in the family. Which of the following is 

definitely a group of male members? 

(A) QUP 

(B) UT 

(C) QU 

(D) QUT 

 

 



 

 

 

-: ANSWERS:- 

  1. Answer: Option B 

  2. Answer: Option C 

  3. Answer: Option D 
  4. Answer: Option D 

  5. Answer: Option A 

  6. Answer: Option A 

  7. Answer: Option B 

  8. Answer: Option C 

  9. Answer: Option B 

10. Answer: Option C 

11. Answer: Option B  

12. Answer: Option A 

13. Answer: Option C 
14. Answer: Option D 

15. Answer: Option C 

16. Answer: Option C 

17. Answer: Option D 

18. Answer: Option D 

19. Answer: Option B 

20. Answer: Option C 

 

 
 

 

 

 

 

 

 

 

 

 
 

 

  



 

 

 

 


